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Abstract

It has been well-known that, if AABC is a plane triangle, then there exists a unique
point P (known as the Fermat point of the triangle AABC') in the same plane such that it
minimizes the quantity

XA+ XB+ XC
for any point X in the plane. Moreover, if any of the vertices of AABC holds an angle
greater than or equal to 27/3; then P coincides with that vertex. Otherwise, P lies inside
the triangle and satisfies the equiangular identity
2m
/APB = /BPC = /CPA = 5

The purpose of this article is to see how we can extend the above results to the case of a
spherical triangle. It is very pleasant, if not surprising, that very similar statements hold for
spherical triangles that are not too large. In particular, we would like to do the following:

1. Study and understand the paper ” The Fermat Point of a Spherical Triangle” by
Gahlieh and Hajja thoroughly.

2. Fill in certain missing points that the paper did not mention.

3. As a generalization, we study the Fermat point of a spherical polygon. We can obtain
some interesting result for spherical polygons with 2k + 1 edges. However, we cannot
overcome the difficulty for spherical polygons with 2k edges.
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XA 4+ XAy + -+ XAgpy1 > A1 Ag + A1 As + -4+ A1 Agy i,
PR EERR.
HepfEENE bt B ER), 54 Ll 2 gk, AT5NERT 2k + 1 281 2 8 BN
TFEAEAERTE 2k + 1 18TE5b. O
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3.3 FJIKERM 2k + 1 BEEHR

TEM T, B EGETERE 2k + 1 BB E BRI E REE.

3.3.1 F|H Lagrange Multiplier 3K #x/M&

& 17

WE 17, BRI A — 2k 4+ 187, BkmE B X, 5%

a; =d(X, A1), ap = d(X, Ag),

coey o1 = d(X, Asgyr),

m*ﬁﬁg%%% KAZXAZJrl = 9,7, S ]N,O <i<2k+ 1, H KAQ]H,lXAl = 92k+1,

f(X)=d(X,A)) + - +d(X,Agpy1) = cos Zaj 4 +cosT T aA2k+1-

&7 £ai,ap, .
H LSy, AT

ai a

yaokit, BD X PATEAEAT 2k + 1 :8TERYTEES . FIH Lagrange Multiplier

—
A2k+1

- - e Y4 (10)
S1n vy S1In g SIN 2k 41
HiEmEFENE 2 M o, 715
_cosay | CosQo COS gk 41 (11)
~ sinoy  sinag sin agg+1
~ ~// P
1 cosA1Ay  cos A1 Az cos A1 Aoy g
)\COSOq: " - - _— (12)
sin ary sin ag sin arg sin aiogy1
#5112 (12) =,
coS Cos @ coS o
—1 + 2R cos ay
sina;  sinag sin agg41
TN e —
B 1 cos A1 Ay n cos A; As cos A1 Agy
T sinm sin ag sin a3 sin g1

16



QAL

// —
1 — cos? ay n A; Ay — cos g cos ag n A1 A4 — cos aq cos ag

sin sin oy sin ag

A, A
145511 — COS (vp COS (o1
+-+

: =0,
SIN 2k 41

1 /. A
[ — LIk
S1n &

1

/=~ —/
14 cos A1 Ay — cos g COS iy . cos A1 Ay — cos ap cos ag

sin v sin ag sin o sin azg

P S
cos A1 Aoy 11 — cOS aq COS Qiagt1

- - =0
sin o sin aopi1 ’

IRIEER I AR TLE B, W15
cosfy +cos (01 +03) + - +cos(0y +0z+ - +0) =—1
H A RIERAY T VAR MAERE, 745
cos by +cos(fy +02) + -+ cos(fy + 02+ -+ 0) = —1
?0302 +cos(Oy+03)+ - +cos(Oy+0s+ - +0p41)=—1 (13)
.cos O 1 + cos (Oay1 +61) + -+ cos(Oapy1 + 01+ -+ O2p—1) = —1

(13)FRERIE 2k4-1 182 f(X) B/ IMERY A ZIRH, (ERAFERETE 01 ~ 02 > -+ > Oop > Oopg
O . ARIEER T = A TR T DL TR

Or =0y = - = Oop, = Oopy = 210/ (2k + 1)
AR (13)2X, 513 3.2 /R,
SIH 5. WHE 0 =2n/(2k + 1), HI
14 cosf + cos20 + - - - + cos 2k = 0.
. 4 w=cosf +isinf, I
W =1 = 14w4w?+- +? =0,

R
(14 cos@ +cos20 + -+ cos2k0) + i(sinf + sin 20 + - - - + sin 2k6) = 0,

ESfl ¢ e
1+ cosf + cos260 + --- + cos2kf = 0.

i LA
91:92:---:92k:27r/(2k+1),
* 2k(27) 2
Y Y
Oohr =20 = S = op o 1
1535, O
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H5IH 3.2 FIf5E P #hime

2T

A1PAy = = LAy, PA =«A PA, =
LA1PAy L Aok PAggy1 = LAz 41 P AL 1

(14)

IRF, P B2 (13) 2.
ff F Lagrange Multiplier I, oAM= A THEG RS ER, 12 N ARIAHE B AR R E R 1T,
THEE AR BRI 2k + 1 3R 00E B EBL. TR Ff/E— 825 € 28, BHEES 3.1.

REF 3.1, DH—EKE 2k +1 8%, £ i,m,nc {1,2,...,2k+ 1}, H m=i+k (mod 2k+
),n=i+k+1 (mod 2k +1), HIfE LA, A; A, FTEEE A, Z HfHA.
3.3.2 EFARNTHEMANA 2r/3 K, THEAKEERE 2t + 1 BRE B

gkkﬁﬁﬁtﬁ B LA E BT AR TR/ 2m/3 I, THEGAS 2 HBRTHE 2k + 1 1872/
B l%%ﬁ.

FEH 5. CHI—ERME 2k 4+ 1 13/, HAERMIERGERE /N 7/2, HATHRER A/
B 2 /3, RITERE AR 2 SR 2.

% R RS P T ~/
A AR, B Ay BB BE AF A1 As, Ay Ay, - > Ay Aoy, AsAgyyq, TR A1 A5
N N TN L T — NN =
A AgAgpq TN Bs, A1Ag & AgAgpyq A Bs, -+, A1 Ay, 2 AsAgyyy TN Boy, WIE 18.

o

¥ P BEKE =M B A By, BB, @8 PA,, PAy, -, PAyy. BB P B
BRI =¥ Bry1A1Bryo 2B BE

—~ /—\ —~ —
AlBk—H + AlBk+2 > PA; + PBk+1 + PBk+2, (15)

NAEBKIH =FATE PBii1Akt1, PBri2Agia T,

A~ — —
PByi1 + Bk+1Ak+1 > PAk_H (16)
A~ — —
PBjio+ Bk+2Ak+2 > PAk+2 (17)

FH(15)(16)(17) A 15

— — —~~ —
AlAk+1 + AlAk+2 > PA; + PAk+1 + PAk+2.

18



NAEEKHE =ATE A1AsAopy F, FAy P LAEANES, H5IH 3.1 7
—~ —~ o~
A1As + A1A2k+1 > PAs + PA2k+1,
TFERA = A A1 AsAgy, RIS
—~ P e
A1 A3+ A1 Ay, > PAs + PAgy, -+,
TEERE =T A1 A Ak T, RIS
—~ —~
Ay A + Ay Ay s > PAp + PAgys,
Fr LA
—— — —~ —
AjAg + Ay Az + -+ Ay Agppy > PAL + PAs + -+ - + PAggya,
1B, O
H_EAT540E BELIEERTE 2k + 1 @R AER, HIWE(13)=0, (EEEWE (14)=, T
AETE T Ei AT 3.

£

2

3.3.3 BRE L—B P WR LA PAy = - = LAy, PAgy 1 = £Agp 1 PA; = ST

W, P BSRGRNAERE 2k + 1 B2 BEE 7

1E 3.3.2 BIEMET, THES A IR 2k + 1 BT E BB RIE BENERKTE 2k + 1 8B A
e, ﬁﬁﬁ(lS)T B2 2 52

LA1PAy = - = LAy PAgp 1 = LAgp 1 PAL =

PAUN Feff e 2.

518 6. BA1—EKME 2k + 1 B, BFRA/NR 2r/3 , HAEE—H P W2 (14)=X, Bl
P BLEVEAEERE 2k + 1 BT AED.

AR, FIH agE: B P BRSNS, W
LA\PAy = -+ = L A9 PAgjy = LAy 1 PA =

I P EM_LE—HJ\W*K ujuﬁ
(1) & P H=fAFHF— 8, aE 19.
ANR—f e, ek P BhEd A4 HNHE, LA, PA, =0, FJE.

(2) MR, &% Ak+1Ak+2 Pt 2 KB BT 0B B R, T H A P oA el
fil TERE S Rl — Bk T, anfE 20.

K& P 25 e
LA1PAy = - = LAy PAgg 1 = LAgp 11 PAL =

MK =FTE Appa PAgyo =18/ o I, BRIEF/NR =, T

LA PAs + LA PAs + -+ + LA PAgi1 + £Ag 2P Ay
2k(2m)
2k +1

2w
2k + 1

2T
2k +1°

2
2k +1’

+ooo+ LA PAgg1 = £LAgp 1 PA =

%}*ﬁzﬁﬂ% Ak+1PAk+2 Z#V\]ﬁ7 E./E\:j(ﬁ/\‘\ ™, %E‘

B P BEEE I Rk—rE B3 P 7E A Ay b Bl LA, PA, =, FIE, B
DL P BEATENET, B
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R et
SO
RN
St Teirel ]

,000’:}:,‘!;:;:,4‘.,

B

\
N

<SS N
O 0 NN
S SANY

SRR
o Q‘Q“‘\‘\\‘C’:ﬁ't h
WO
ol
KK

fERH, btz P RGEEAE, B P BRAERRT 2k + 1 B EAES, HEREEAE 7
AR T HA .

FIE 7. BAIBRE 2k + 1 B, (ERWTEBNERE /NP n/2, HHAE TR Z PR
> /2, HIERRIE 2k + 1 SR NEAFEET 8 P, 15

2
2k+1°
R, DUR A B E. S —2h P/?_ﬁi/@(m)ﬁ/ﬁiP BLAEBRTE 2k+/1_i%ﬂ% V\]%IZ./_/&:]E%E
Ay ZHHA LA 1 A1 Agye > /2, A Ay B AgAgpyy 1Y Bryr, AiAgys 8 AsAgy iy
A Bryo. TEMLAWERS 43 BT,

(1) & P EAERT=MAE A1 Ar1 Apgo WHEE, HI

LA PAy = = LA PAojy1 = LAgp 1 PA; =

KAk+1PAk+2 > KA].;_;,_lAlAk_;,_Q > 71'/2,

2

Ak 2k +1

>%,Xk>1,%!§.
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(2) B P AEKE =M A1Ap1 Ao WER, BINK—MM, 0E 21, @R PA,,
PAsky1, -y PAgya.

/ SN SN A

D 0% <o AN ot
5 ‘\xo:.:&\\\.!'gz::%
RN

S —— N
K RRITEESESS
i

222 S

L
/)

S . 2 e g,
EKT=M] A PAys T, LA PAy = g~ TR AT Aser PAsy,

2k
2 NN .
EPv LAy 1 PAgy, = 2]4}711 S EBERE = AT AkysPAgio ':F‘7 LAp3PApys =
27 2km

1 FtLh LA\ PAy o = 1’ NAEBRTE =Y A1 PAp, o H, B Ay

APAApio > LA A1 Ao > /2,
BERE =M =8%/NA ©/2, H5|H 2.1 71§

2km

m/2> LA PAgs = 5
TE, WAEEKTE 2k + 1 BN ANFEEEA—B P, 15

21
2k +1°

KAlpAQ == KAQkPAQk_i_l = KAQ]H_lPAl =

O

M52 3.3, ATANE HRIMANR 2r/3 B, FHHEE P EGR R (14)2, A P RGO fEBR T
2k + 1 B A 5 M52 3.4 A E FRIMARD 7/2 B, BRI 2k + 1 BEARAEE—
B P AR (14) 70, BOTRIEERE 2k + 1 B HE —TERZ FRIMAN 7/2 F 27/3 ZH
5, W2 (14) 2 P BENEAE. (BHEHE 3.2 1550 BRBSTEERI 2k + 1 TR AR, #7410
T2 (13) ZUREG AN — 0 JE S BB i A2 (13) SURIRE N DABRRE 1R 7 BEIR 2 B S 8.

4 HhiEw
4.1 5w

1~ FEREBRIEZ S (H & =AF) 8 BRFE HiE—.
2~ FEEERE =M E BRL AFERBRE = AT

21



10~

11~

4.2

~ ¥ The Fermat point of a spherical triangle —3C, B] DISEIFEERE = AT =%

aib,c BN m/2 BIRIHR T, BRE = AR BREME—1E, T LS R LU N W
fii:

(—) & LABC,4{BCA,L{CAB &/t 2r /3, AIB R P (I RAEKE =M ABC N
#, B LAPB = {BPC = LAPC = 2x/3.

(Z) ® LABC,4BCA,{CAB HH—H > 2r/3 (E8EHF—AA) , AIE BB 1
2 THES.

s EEREI =M ABC WER—2 T, Bl 4 BAC W/NJY £« BTC.
~ TEEEKE 2k + 1 BEE BRI AFIERERE 2k + 1 BN
Y E O =0y = = 0o = Ogpy1 = 27/ (2k + 1) B, FTREA

cos by +cos(0y +02)+ - +cos(fy + 02+ -+ 0) = —1

cosfly + cos (02 +03) + -+~ +cos (02 + 03+ -+ + Oap41) = —1 .
: A

00892k+1 —+ cos (92k+1 + 91) + .-+ 4 cos (92k+1 +60;+--+ 92k—1) =-1

< HERE 2k + 1 BT AR SRR 23 B, TEBGR A 2
< BRI 2k + 1 BRFTE A RN 2n/3 B, EHE P B4R, B P

BROTEBRIE 2k + 1 2R AHE.

~ EBRIE 2k + 1 BB —TERZ PRI R /2 K, AEERE 2k + 1 2 ARRAE

TEET—B5 P g (14)2.

il 8 ~ 9 AIFIEERTE 2k 4 1 BB A THR Z FRIMA/NR 2n/3, HE—THRLZ
AR 7/2 B, R (14) 22 P BIREAE.

It 7~ 10 AR BRI 2k + 1 2/ BT THERE 2 FF 1A /NN 27 /3, HA —THES
ZHREFARR 7/2 W, BEBEEIRE 2k + 1 SR AR, EANRE(14) 5. SEEm
R (13) 2 BEANME— WE)EERR, DT RRAH AR e — %, T2 % B 6 JHE B A T 2 (13) X
2B A e

G E]

HETERTE 2k SRR ES AR, BEARAS—EZN 8, BarEREMmAE A, M
Ay FTRERCHOSE A AR AR B A Y — R RURE, WACRERI R B SR, HATERM 2k 2B 5%
DU R B R 5 TR SR B SR .

TIAEERTE 2k 4 1 @B F, RA] LISt e E A —THRZ FRMA > 2r/3 JE BEIR T

R (13)FLSNETEA HABTEE, AERRFIE.

E= PN
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